":‘32' _Find the range of angular positions for the input link (link 2) and for the output
link (link 4) for the four-bar linkage shown in Fig. 2.57.

. 14 in.
(356 mm)

6 in. 094 = 6in. {152 mm)
(152 mm) AB = 8in. (203 mm)
048 =6in. (152 mm)

FIGURE 2.57

e

FDcterrnine the mobility (number of degrees of freedom) of the devices shown in
1.25 through 1.32.
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FIGURE 1.30-
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Rolling & Sliding

FIGURE 1.32
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_~2.23. For the offset slider-crank mechanism shown in Fig. 2.53, calculate (a) the length
of stroke of slider 4, (b) the distance O,B when the slider is in its extreme left position,

and (c) the time ratio of working stroke to return stroke.

\ FIGURE 2.53 \

S—)



Solve problem 1.25 in the
min. and max. transmission angles

Find the D-O-F of the following mechanism

| p Pininsr Y

AB= 05"
C8=10"
CD=038"
= DE= 165

textbook. Also, for

F(20",0.95%)

Roling & Sliding

Vo sl
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AB=05"
AC=1.0"

problem determine
in case it is possible.



Administrator
Rectangle

Administrator
Text Box
Gears 

Administrator
Text Box
Gears 

Administrator
Rectangle

Administrator
Typewritten Text
Rolling & Sliding

Administrator
Typewritten Text
Solve problem 1.25 in the textbook. Also, for this problem determine the
min. and max. transmission angles in case it is possible. 




